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QUESTION 1

About UltraPath multi-path software installation, the following statement is correct: (Choose three)
A. After installing UltraPath for windows need to restart the server

B. After unloading UltraPath for windows need to restart the server

C. No need to restart the server after a successful dynamic unloading UltraPath for Linux

D. No need to restart the server after installation UltraPath for Linux

Correct Answer: ABC

QUESTION 2

Argument about maintenance tools, the right is:

A. Information gathering tools must request JRE1.6.18 or later
B. Inspection tool to use when upgrading

C. Information gathering tool support S5000T

D. Maintenance Assistant tool must require JRE1.6.18 or later

Correct Answer: D

QUESTION 3

Argument about disaster recovery and data backup correct yes:
A. Disaster recovery is data backup.

B. Disaster recovery is a method of data backup.

C. Data backup is the foundation of disaster recovery.

D. The above statement is not correct.

Correct Answer: C

QUESTION 4
Start the application server installed software, application servers and storage devices via iISCSI ports can PING each

other, but to build an application server connected to the storage device is unsuccessful, the possible reasons are.
(Choose three)
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A. Start the application server software firewall on port 3260 is not open

B. Connection exists between the storage device and the application server\\'s network firewall,port 3260 is not open
C. Storage device is not configured correctly starter

D. Target storage device is not configured correctly

Correct Answer: ABC

QUESTION 5

Same LUN simultaneously mapped to multiple host groups, this statement is correct.
A. True

B. False

Correct Answer: B
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